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Section 1.3 Evaluating Limits Analytically 
 
Properties of Limits:  

 
 

 
Use basic limits and properties of limits to find the following limits.  
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Ex.3  
   
lim

x→−3
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Ex.4  Given 

   
limx→c f x( )= 27 , evaluate the following limits: 
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Ex.5  Evaluate: 

    
lim

x→5π
3

cos x( ) 

 
 
 
 
 
 
 
 

 

Ex.6  Evaluate: 
   
lim

x→−2
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Ex.7  Evaluate: 
   
lim
x→3
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Ex.8  Evaluate: 
   
lim
x→0
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Ex.9  Evaluate: 
   
lim
x→0
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Ex.10  Evaluate: 
   
lim
x→0

cos x( )−sin x( )−1
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Ex.11  Given    f x( )= 3x2 + x , evaluate: 
   
lim
Δx→0

f x +Δx( )− f x( )
Δx  

 

f (D) =3 DID DX out symbol

Lingo f⇐t%- = lim [3Cxtax5text[3xtx
DX -20 DX

=s÷ .

sc**×t⇒¥¥÷÷¥÷
:*:* . .

-

^

= zxsxtks

=
Hm

3#6xoxt3I⇒×
-

DX -20 DX

=

liusGxyt3@xtDX.Dx-20 DX I:÷÷:#this.ms#i!÷±¥
Gx ) t lim 3D Xt line I

DX -70 Diao
DX -70

= Gx to
+

I

=6 ✓




